Lecture 12
	2
	Tonic stress refers to the syllable in a word which receives the…………….. stress in an intonation unit.
1-least
2-most
3-little

	1
	An intonation unit has ……….. tonic stress.
1-one
2-two
3-three

	2
	a sentence ………. more than one intonation unit, and therefore have more than one tonic stress.
1-con't have 
2-can have

	2
	the final tonic stress in a sentence receives the m………… stress.
1-least
2-most
3-little

	1
	……………………is used to point out the difference between one object and another.
1-contrastive stress
2-tonic stress
3-New Information Stress 

	2
	……………..refers to the syllable in a word which receives the most stress in an intonation unit.
1-contrastive stress
2-tonic stress
3-New Information Stress

	1
	· When asked a question, the requested information is naturally stressed ……… strongly.
1-more
2-less

	2
	If you decide to emphasize something, you can change the stress from the principal noun to another content word..that's called;
1-contrastive stress
2-Emphatic stress
3-New Information Stress

	3
	…………..is the natural transition from word to word, from concept to a concept.
1-the transition
2-the spelling
3-the linking

	2
	Blending consonants with vowels is one of the………… sorts of links for non-native speakers.
1-most difficult
2-easiest

	1
	To link a consonant sound to a vowel sound, the …………. sound is shared by both words.
1-consonant
2-vowel



